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Question Number : 1 Question Id : 3419794634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which one of the following sets of quantum numbers represents on impossible

arrangement?
& (806 a3 0ES 500D JSopge BDHOES® D IE IO ?

Options:



n=23 (=2 me=-2 m.= l

> 2
1

n==4 (=0 mg=0 m.= —

3,

|
n=>5 (=3 meg=0 me=- —
4 2

Question Number : 2 Question Id : 3419794635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The element with highest electron affinity has the electronic configuration
9 HE O 520 2B EDAS HTeerESn B8, NalsuN DeIeg s
b= o

Options:

. [ Ne]2s” 3p°

[ Ne ] 3s* 3p

[ Ne]3s” 3p’

=

[ Ne]3s”3p

4

Question Number : 3 Question Id : 3419794636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The pair in which the two compounds are not 1sostructural 1s
& 808 >BS° JD wE)S T mow b ?

Options:

_ SiFs, SF,



105 , xe03

2

BH;, NH;

3

F 23 LR £

Question Number : 4 Question Id : 3419794637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The molecular weight of H3POy4 1s 98. The equivalent weight 1s
H3PO4 G308y ese0z8ssn 98 ewond ad g FPED Do ?

Options:

98

1.

Question Number : 5 Question Id : 3419794638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which one of the following does not act as Lewis acid?
& 808 >BS° wrobrd wdhdn 208 b ?
Options:

1 S]_ICLT,

CCly

21
S1Cly
3.

BF;

4,



Question Number : 6 Question Id : 3419794639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Oxone 18
©95°)S ©HIH
Options:

. CaO

O3

z.

. NaBO;

N'&gog
4

Question Number : 7 Question Id : 3419794640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The hybridization of 1odme atom 1s IC/; 1s

ICT; 9en3S°Q oFraS Bng), So8b880 b ?

Options:

| Spd

1

Spd’
o

5 SP
4, 513’3

Question Number : 8 Question Id : 3419794641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which one of the following is a thermo setting plastic
& (808 85 s1)E FRE Sgo A&

Options:



Nylon -6
Sers — 6

1.

Terylene
, B SIN]

Bakelite
- ﬁé@eﬁ:—-

Polythene
, TOES

Question Number : 9 Question Id : 3419794642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ozone hole refers to

5.855 E0|FeS0 e9HSE

Options:
Hole in the ozone layer

1 2,555 SrES* éjd;&d o[5S

Reduction in the thickness of ozone layer in troposphere

@féﬁ”ﬁ:mﬁagﬁaﬁ 2858 S $558 Siico
z e

Increased concentration of Ozone

a8°S PRES DERESD

Reduction 1n the thickness of ozone layer in stratosphere

@”5&5“5&;0535@55‘3 2.8 S $¥38 Sico

om
4 b

Question Number : 10 Question Id : 3419794643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which one of the following pairs of ions have same paramagnetic moment?
& 808 FES* IS P08 (FRHESD SO Bow Wb ?
Options:

L Mn™, Cu™

A2 a3
L G

.44 2
1 i Tl o

%

43 g9
T .

4.

Question Number : 11 Question Id : 3419794644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The general electronic configuration of Actimides 1s
@ééﬁ@ B0 T REED &@ES SIS

Options:

[ Xelaf™*5d™ 65
[Rn] 57 54° 747
2

[Rn] 5 6d* 75°
=

[ Xe]4f™*5d° 65
4.

Question Number : 12 Question Id : 3419794645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following complex exhibits the optical isomerism ?

& (808 BS° G @I (DB IIFIH B
— &/ e/ T &

Options:

1 Cis [CD mH_;:MCIE] Cl

, Trans [ Co (NH;),CL] Cl1



. [(:D (NH})ﬁCl] Clg

) [ Co (eu)s] Cl;

Question Number : 13 Question Id : 3419794646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

RMS velocity of a gas molecule 1s equal to
2.8 PO WENY &) RMS 3K & (80d E3S° B8 JHsreSan.

Options:

SRT
T M

Question Number : 14 Question Id : 3419794647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which of the following cases. the reaction is spontaneous at all temperatures.
R T O =1 o T ] s T3 Yol ko o
ABPE o ITg ) sdlinse S8 @me@i@éﬁﬁ Joenod ¢

Options:
: AH<0,AS=>0
, AH<0,AS<0

S_QH}OA.S}O



AH>0,AS<0

4

Question Number : 15 Question Id : 3419794648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A compound 1s formed from elements X and Y. Atom of Y (axions) form ccp lattice. Atoms
of X (cations) occupy 50% of octahedral holes and 50% tetrahedral holes. What 1s the

molecular formula.

28 SFIo X HBo Y reosces® 5 1Kod. Y SESreagen (ASoseSen) cep
FosQ) AYOPow. X IEIrengen (sswoirSen) 50% sg3p|d Sojgrod
HBon 50% GRp|ES Sojgred eEDoHHT 0w, & 533&%’55@; @m@ﬂd}é@ i
Options:

XY>

1.

, X2 Y3

3 XY

4, X3 Y2

Question Number : 16 Question Id : 3419794649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

An aqueous solution containing non-volatile, non-electrolyte solute boils at 100.0052. What
1s its ATgvalue is °C? (For water K, = 0.52 K, Kg mol’l, Ks=1.86 K.kg mol ™! : the freezing
and boiling points of water are 0°C and 100°C respectively).

o8 @@t&;@@, DS 3K (@S0 Ko selaeswo 100.0052°C SE HSHHS06.
>0 Tr Qend °Cost dos? (B8 Ky =052 K, Kg mol™ : Ky = 1.86 K.kg mol! &&
S0dfoHsS 0°C HBaHo 100°C . é}d}fﬁ%ﬁm@: SH3e  0°C HBoHy 100°C)

Options:

0.186
L.

0.0186

2

1.86

3



, ' 0.0052

Question Number : 17 Question Id : 3419794650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The units of resistivity 1s

DEFES Bogy, (Hafrerren & 80d FBS” O ¢
Options:

Q

1.

OQm
5

/
s Q/m

2
Cm

4.

Question Number : 18 Question Id : 3419794651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
E° of Zn electrode is -0.762 Volts. The electrode potential of Zn electrode 1s deci molar

ZnSQO; solution 1s
Zn @@ﬁg cﬁwé’a_ E° Denss - 0.762V. GdFeerrd ZnSO4 @“&5830@'5 Zn &@f;&
Cﬁbg&_ B & & $5H0.
8 ©
Options:

-0.7915 V

1

-0.671V

2

L

-0.671

4

Question Number : 19 Question Id : 3419794652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
The function of salt bridge 15
o
%D PEOH T I

Options:



to produce a link between two half cells
| o wg Hotre HEg 06D IS

to allow 10ns to go from one half cell to another half cell

2.8 ogiowsn Hod 208°E g HHerdd woirHe DADHATA) 8DHHBoHw
5 : :

to keep EMF of the cell positive
. 080 cﬁmggj_ EMF & dméééoﬁ 008

to maintain the electrical neutrality of the solution in two half cells
Bo&d g Joteerds® DepgS é&%ﬂ&& Deny) §° 580
4, - :

Question Number : 20 Question Id : 3419794653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following 1s Kirchoffs equation?

& (80d FES® A8 8D SEGea

Options:
AH, + AH
ACp = —2= ‘
., T'_? +Tl
.. AH,~AH,
ACp = -
e
2. =
AH, —AH
ACp = —= ‘
T —T,
= i
AH, —AH
ACp = —2 : j1
; (I =T;)"

Question Number : 21 Question Id : 3419794654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



At 8.00 AM, 20% of a first order reaction 1s completed. At 9.00 AM of same day 20% the
reaction is remaining. What 1s the time (in min) required for 90% completion of the reaction?
(logd = 0.6)
8.00 AM & , o8 (SED (SSmo8 85 20% g, wowobd. e9B8% 9.00 AM G,
20% $65 DAOIod. & I8 90% 8, 5258 H§ scwo (DDrS®) doey ?
(log4 =0.6)

OpEions:

90

1.

120

R

110

o

100

4.

Question Number : 22 Question Id : 3419794655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Mist 1s an example of
500 PRDOD 6HIE B edSeSen
Options:
Aerosol
| A S

Foam

2.

25

Emulsion
AHES

4

Question Number : 23 Question Id : 3419794656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



MnO is an example of

MNO 9058 € (Sod S3S® B8 eSS

Options:
Diamagnetic compound

ESSTSTREE Sargesn
1. = G

Paramagnetic compound

PSRN B8 SaeE s
2. = G

Antiferromagnetic compound

30328 SRV 38 Jaedehn
3, e e @

Ferromagnetic compound
@@*aﬁnﬁﬁ&é— PSTnileNOY)
L &

4.

Question Number : 24 Question Id : 3419794657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which one of the following belongs to + I group?

& Bod P8BS +1 S TobSs B ?

Options:

-OH

1

_CH,

&
_ -COOH

; —OCH;

Question Number : 25 Question Id : 3419794658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The most stable carbocation among the following is
& (80d 8E° wdgod BEPS 8 SErD

Options:



+ CHj
1.

) + CH,NO,
. +C(CHs);

. +CH,CH;

Question Number : 26 Question Id : 3419794659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

2CH3I + 2Na ———» CH; + CH3z + 2Nal

The above reaction 1s an example of

R S8 & 80d ,AST B8 eSS
Options:
Wurtz reaction

| mgﬁz‘.«ﬁ} o)y

1

Corey — house reaction

§3-FF 365

2

Ilodoform reaction

WONE P 388
i

Kolbe’s electrolysis
§°8) ABORS
2

4.

Question Number : 27 Question Id : 3419794660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The above reaction 1s an example of
R S85 & (80d >ES° B8 s5TCe

Options:

Kolbe’s electrolysis

o 85OHRD
1. &) 1Y)

Riemer — Tiemann reaction

858 — S2S 6

z.

Hell — Volhard Zelinsky reaction
& —SEHE BOSK), S

=
Kolbe-Schmidt reaction

78y — ﬁa{;e? ety

4.

Question Number : 28 Question Id : 3419794661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In which of the following reaction hydride 1on transfer takes place

& (808 ES° PRE WoHS 08O D S

Options:

) Claisen —Schmudt reaction

 BRS — &8 353



Perkin reaction

E&&_E 150’5

z.

Canizaro reaction

Lol 8§
=

Benzoin condensation

FoSTonS J0TISSH

4,

Question Number : 29 Question Id : 3419794662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following molecule gives zwitter 1on?
& [80b BS° Bead WODIDH BF) weNa) B ?
Options:

Benzoic acid

1 FoF o0 eeHSH

Acetic acid

IRBE esBHasm

Amino acid
. BDS® B8FH

Succinic acid

58305 e sHehd

4.

Question Number : 30 Question Id : 3419794663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The reagent used i the reduction of nitrobenzene to aniline 1s

SeTTodS DHod wOSH aF) FovEsn SEIS° W seEEsD

Options:

1.Zn / CH3; COOH



. LiAIH,4
o MnO»,

i Sn / HCI

Question Number : 31 Question Id : 3419794664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the compound ‘C’ in the following reaction

& (Bob S556° S SHFsn ‘T O HBoDS..

i/ NaNO- /HCI
Compound A A i HiE) >B = > C
(Nitrobenzene)

Options:

Benzene diazonium chloride
ToAS ZF°VcHo §°8&

Hydrazo benzene

. PE S BodS

Aniline
YN

Phenol
BT
4.

Question Number : 32 Question Id : 3419794665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following compound 1s an antoacid?
& 308 ES” QotrRE SR FIS0 b ?
Options:
Ranitidine
15@&&&5



Herom
, ZPCCONS

Codeme

S

Paracetamol
) TR EISTS

Question Number : 33 Question Id : 3419794666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Major product formed by the dehydrohalogenation of 2-bromopentane 1s
2-'@?&3&055& éﬁ.ﬂ_&* FTPuIAS IoHe 536;_3 SeeS (BoSToageb DB ?
Options:

1- Pentene
1 l—_E'JG"i'ES

2 — Pentene
22088

[sopentene
. o 2088S

n — Pentane

n—2083
4

Question Number : 34 Question Id : 3419794667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is strong acid?
& 800 >OS° 2OPS wHSH B *
Options:

Benzoic acid

- Bo& 0wk egheo

1



P-nitro benzoic acid

S¢5° BoS ond b
Z.

P-Methoxy benzoic acid

P-&oge8) SoFonf esehain

=

P-Methyl benzoic acid
P- 2885 ZoS onf escheio

FHYSICS
Section Id : 34197960
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 33
Number of Questionsto be attempted: 33
Section Marks: 33
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 34197960
Question Shuffling Allowed : Yes

Question Number : 35 Question Id : 3419794668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Siemen 1s the unit of electrical

DD 90D AIS HAIPEIAL
Options:

electrical resistance

) DS DT S0

electrical current

DD YT

2



) electrical voltage

L DEILB B8 500

electrical conductance

EJc:&:}?SeS TPLT A0

4

Question Number : 36 Question Id : 3419794669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ifd =1+ and b = j— k. then the angle, 6 between them is

T =T+] 00 b = J—k wand oo o Eeastn, 8 Dewd

Options:

Question Number : 37 Question Id : 3419794670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A person can throw a ball to a maximum height of “h’. He can throw the same ball to a

maximuim horizontal distance of

208 358 28 2208 PS DHOJDL KO IR 'h’. &8 D5 08 208 DBBINE T (163

SN2 HATSE SFrGo

Options:



4h

2h

Question Number : 38 Question Id : 3419794671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Impulse means

OS5GS0 oS
Options:

change 1 force

205" SUICEN

change in acceleration

ésdea:.mmef SLLCEN

change i momentum

€55 Dr120085” 0N

change m velocity

S¢50e5° SULEN

Question Number : 39 Question Id : 3419794672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The explosion of a bomb i1s

eI 0ed Sff’beg&‘m e90HA

Options:
an elastic collision

HATDHE 9 TPed A
_ o @

1

an inelastic collision

@f’g@%ﬂ“&}s e92)15°¢55900

not a collision

292D 2795900 SO0

either elastic or melastic

HAFHE T 0DAIHE 98 HIPeH0
o © o @

4.

Question Number : 40 Question Id : 3419794673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If a bomb blasts m amr and 1s broken mto several pieces, then the path travelled by centre of

mass will be

2,8 er0e0) TrDeS* DO D& arridovenme DET oI , &° G550°2 So@:an Hairedod

;s:og.:m
Options:
parabolic

1 lerrel3losbPubb)



elliptical
AEG Dyednw

z

circular
Sﬁ;@;? o)

Question Number : 41 Question Id : 3419794674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Friction 1s due to

mgmga SOG£3a000

Options:
cohesion

. AROA0Z A )

adhesion
eHR) 023 e

repulsion

SI=Yelr
z =

. attraction

eS8 83
ad
4,

Question Number : 42 Question Id : 3419794675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If two bodies of masses, m; and n» have equal momenta, then their kinetic energies are in

the ratio

m1 0805 My GOFTPBeN SDAD Toth HPYY BSF DHEAVLD RDATTHHL WAD)E T8

tid2 B0 D

Options:
, my/mp

m;2/m->

>/ 1my
=,

2 2
my /111

Question Number : 43 Question Id : 3419794676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Cream gets separated out of milk when it i1s churned due to

e Aol =1 DEDCOLIE) SGEIAD

Options:
gravitational force

mmaﬂssgm 20

frictional force

;f.ugea £I0

centripetal force

N0 100



centrifugal force

e
) DHZo L0

Question Number : 44 Question Id : 3419794677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

As we move from equator to the poles on the surface of earth, our weight
HreHOSw0 QG Do eﬁrmcﬁﬁém Q00G 1300 D) SADINED D 2PG0

Options:

decreases

30D
0

mereases

. Foloblpbine

remains same

&ﬁJ"CiJQ =Tl int]

=

) becomes zero

w;::?gm 29D
4.

Question Number : 45 Question Id : 3419794678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If a spring of force constant, k 1s cut into two equal parts, then the force constant of each

piece is

eovi@:ovoéo, k BAS 208 3o Toth LAIP e S80I, e.Jé“ETSaT A LlaPebb)

ca:osb eyODT0S0
@
Options:

k

1.



Question Number : 46 Question Id : 3419794679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Energy per unit volume of stretched wire 1s
F3BDD DS LATE DODDOATEFIS F

Options:

1 -
E X stress X straimn

2 X 00 200200 X DSy

1.
stress x strain
, OB 00 X D&

1 ;
= % load = strain

%2 X 23800 X D883
>,

load x strain

, TeODX RN

Question Number : 47 Question Id : 3419794680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

When salt 1s added to pure water, surface tension of water

RENED DBS IR SDDIRDED A BLBJHS Dend

Options:



does not change

Qe SD0ed S&Jﬁd.)b &oi e

1.

decreases

&30
= (]

mcreases

Foleblpblnb

becomes zero

%\Péﬁm e LA

4.

Question Number : 48 Question Id : 3419794681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A ball of mass ‘“m’ and radius ‘1’ 1s released in a viscous liquid. The value of its terminal

velocity is proportional to

‘m’ $S5o°3 Sdasw 1 mébvgapdu 28 2208 i‘}&%é (30 393500 &5° D& 2BDADDLHED

@oéﬁf}ﬁa_‘m Do AL e ArsDoco
Options:

1 f’fl'

1

I/m
2.

m

m'r
4.

Question Number : 49 Question Id : 3419794682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The ice 1s floating on water. When it 1s completely melted, the level of water

208 00t (g D S DI B. WA PO SBAVLIND R gnam

Options:
rises

Faloblgblne)

1

decreases

SO
n

' Temains same

2@;{5;3.13:1? &o&O0
=

none

DO

4

Question Number : 50 Question Id : 3419794683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following has the least coefficient of linear expansion

o T2’ £ TSI S8

Options:

aluminium

@mémnmo

L,

mvar steel
5
'amsé E%"S
=z,



copper

oo
=,

silver

Dols

4.

Question Number : 51 Question Id : 3419794684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Water occupies minimum volume at

D IZ 0DDODTE EDAY 0 T ses

Options:

4°C
I
-4°C

0°C

=

room temperature
(& ST Fed D
4. €3 @

Question Number : 52 Question Id : 3419794685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Avogadro number 1s the number of molecules m

ITE Do 9D e5°D 9630 Doy

Options:
one litre of gas

208 6 TroiwS)es’

1.



one mole of gas

208 e araingdyes’

one gram of gas

208 TP Teaiv)es’

one kilogram of gas

208 85" P Trasn)eS’
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dQ =0 and dV =-dW 1s true for
dQ = 0 200030 dV = -dW &8 28awd8

Options:
isothermal process

D &LEe DSab

1
1sobaric process
, D0 DD pdad
adiabatic process

%ggg oo

1sochoric process

DALOD HADH

4.
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A body does not emit heat energy at

28 DY € DoBGye” &Y 33D DEOBVBONTE

Options:

0°C
PATE
323 K

0K
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Echoes arise because of sound

DB DB SPEE0 5D

Options:
reflection

HOHGD0

1.
refraction
REERES S
2.
diffraction
DD GOBW

3



dispersion

DEDHEIAL
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The bottom of a water tank appears concave due to light

Q8 S eocOrdETo LIEPSEHTT EIDOLEIL SPEEd0

Options:

dispersion

SP08d DEZHESAD

1.
diffraction

P03 DDGOD

z

refraction

SPo) HZE5HD0

i
scaftering

SPo DHOSHESL
4,
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The optical planeness of a surface can be tested using the phenomenon of
$od  PEab TP(TP By FFBOHAD DO HOLoIBANDO

Options:



interference

;55@3365'3;‘.1.13
1.

diffraction

| DdgBBw

| polarization

Eabielriebl

3
' refraction
H8BH5HH0

4,
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At the middle of a bar magnet, the magnetism is

C506 AT 035500 2065 Dot 9 @omavbo@e:asm

Options:
minumum

Sﬁgo

1

ZET0
5 BIPA[ DD

maximum

ﬁﬁgo

3.
mfinity

9D 030
4
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An electric dipole 1s placed in non-uniform electric field. It experiences

9203008 Dy EFodS” o DAOIS BIEID0 P DIBALLDD

Options:
a force and a torque

2223500 08050 EJ"SZ’

1.

a force. but not torque

y 2223, S°2) EPSZ}' o)

a torque, but not force

@6&, S92 Lrers0 S
=

neither force nor torque

£ SV EJ‘&ZJ S°C0
4,
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With increase of temperature, the specific resistance of metal
53570 ST B DoDIRDE T DIRIT B[

Options:

decreases

SO
n

Jiz
) INcreases

Feloblgblne)
2



does not change

_ S0y 3 d

becomes zero

%@éﬁaﬁn DIgbPab)
4.
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The converse of Seebeck effect 1s

DBE a0 DDV
Options:
Thomson effect

t;:rngﬁab.S 2T DB

Compton effect

?QS DerHAWL

Peltier eftect

29ad LA
(A}

Raman effect

TR0 0EPHAW
4,
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A galvanometer 1s converted into voltmeter by connecting

PO L S %35 DGO SLCUNALY

Options:



a high resistance in series

0 AE 36“@2}& 363e5° SeDHT

a low resistance in series

LN :J&f’mi)& 33e5° SeuH AT

a high resistance in parallel

0 236‘@:)& 28T 0S o eI

a low resistance m parallel

PN ngb‘l DAToSEoMT LIS

4.
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Lenz’s law 1s based on the law of conservation of

Fod DoDITIE 2 3@5935 oA e3eGo

Options:
charge

e3D%0

energy

53

1114ss

aPeitepl



momentum
GO§D o
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Energy conversion in photoelectric effect takes place from
P08 DEVYB PePHA0S” 3§ Jo°Cdy

Options:

chemical to electrical

SFa0H0 Qo) &’35&355

1

magnetic to electrical

EﬂOjJ.a‘%m‘_‘m Soow) 3)6:’1.)5@5

optical to electrical

SPodd Ao) 33(5.35@5

mechanical to electrical

oiroBSo Sood) 3)5&3595

4.
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An electron volt 1s the unit of

DOTS Te5 905B ADSE HATEIAD
3 &

Options:



powcer

D0

o
1 At

potential difference

%‘Sé’ S0

2,
charge

e3 %0

energy

53
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Fission on a nucleus 1s achieved by bombarding it with

DDYBS Fogs50000 AIS Beloss ST

Options:
pI‘DtDll

L e

electron

DS
& 8

neufron

QAT°ETPA0

3



positron

PR

4
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At OK, a pure semiconductorisa
“ﬂ5cﬁa@b @gmmsm 0K bg L

Options:

super conductor

099 TS0

1.

conductor
X PP S0

msulator

oGS0
=

semiconductor
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If two functions f: R >R :g:R— Raredefine by fix)=3x—2and g(x) =x"+ 1.
then the value of (gof b (2)1s
f:R5>R.g:R>R a3 3o @3.0‘&31&“ f(x)=3x—-2 D&ch glx) =+ 1
QS:28F, (gof ') (2) Hewss

Options:

25

o
3

k-3
]

ple)
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In how many ways a team of 3 boys and 3 girls can be selected from 6 boys and 4 girls?
6 & zrends H8ok 4 =rdfe Hod INE TEendd D8k 3 KN =L 3RS
A DPoIT VS ?

=8 = !

Options:



20

40

60

80
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The sum of the binomial series

.. 14 Ly, a
1+—+ + +..... 18
4 438 438.12
: A7, —
el 12 10 63 Sens He Swdo
4 48 48.12 . =
Options:
34
i Vit

Va
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5x+6
15
(2+x)(1—x)

. B -
The coefficient of x” in the expansion of

5y +6
(24+x)(1—x)

DHEe0S* 7 Bog). KoeoFo

Options:
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Ldd

=
|

—
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Correct Marks: 1 Wrong Marks: O _
If the roots of the equation x° - 2k x + 8k — 15=0: (k = 4) are equal. then the value of k 1s
X -2kx+8k—15=0 o3 J5DESw00 B, Sroren J&PSHS, (k> 4) k Sng);
Hexds

Options:
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Correct Marks: 1 WrongMarks: 0
The value of 't' such that the system x+y+z=1, x+2y+4z=t, x +41+10z=F : (0 <t <6) is
consistent system

x+y+z=1, a2y HAz=t x +Hy+10z =1 : (0 <t < 6) 83 JLeEEE S8y FoRSDHROIW
t Hewss

Options:
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Correct Marks: 1 WrongMarks: 0
If the sum of two unit vectors 1s another unit vector, then the magnitude of the vector of
their difference 1s

Sot® asof Shfe Jwdgo I6°E Ao J&F oSS, wlold JSbFe Fa S6% SwE)
EC Rl Y

& 8
Options:

1. '\-E

—
V5

2.

7
=,

V35

4.
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1 '
If sec@=x+ 4— then the value of tan 6 + sec O 1s
1

1 >

secl =x+— 235, tan 0 + sec 6 e
4x

Options:

1 %

2 2x



Question Number : 76 Question Id : 3419794709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

"

{2 i [ & [ T
- i ._.-‘T 7 L, % J.-T .
The value of sin’| == |+cos‘ - ‘—tan‘l — ‘15
L 3 ) \ 6 ) L 4
! 1,::"_ | }'f. ol '-'; it )
5;111‘1 ‘+c05‘| s ‘—tan‘ ‘ Sexas
| L ] £
Options:
2
3
5
> 6
1
4
3
1
2
4.
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| cos(¢+v)

o+ +w= " then the value of Z — " |1s
2 cos@cosly
grgry=" oF Y|0HY)
2 cos@cosyy |
Options:
1 6
-"-1-
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The period of 5.1111 —_— ‘-l— 2{:05‘ T ‘_ tan{ TX

— -

|1'5

HI. (mx) & i
|+ 2cos ‘—tan

9111!

‘ @5* o0

Options:

-j
;12
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The solution of the equation sin(x + 28”) = cos (3x — 78°%) . x < 90° 1s

SOmEGwo sin(x + 28°) = cos (3x—78°), x < 90° &), S

Options:
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i -1 -1 iz T
Ifcos x+cos yteos z=%then x +y +z +2xyz—=

-1 -1 -1 2 2 2
cos x+cos y+cos z=T7 28 then x* +y " +Z +2xyz=
Options:

0
1.
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If sin h(x) = 3 then the value of cosh(2 x) — sin h(2x)
4

sin h(x) = = &8 cosh(2 x) — sin h(2x) ﬁ::%_ Denes

/A

= |

Options:
17
1. 8

[—
A
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It E; and E> are two disjoint events. then P(E; U E;) =
Eio8csw E; e Bods HIE &-n‘:&&ﬁ'@é. P(EiUEy) =
Options:
. P(E;) —P(E;) + P(E; N Ey)
P(E;) + P(E;) + P(E; N Ey)
z.

- P(Ey) + P(Ey)

P(E;1) — P(Ez)
4
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The probability that a leap year will contains 53 Sundays 1s
93 Jos3 8o 33 whPoE §€ga§;::§ Sozpepd

Options:

i | b

Lh | ko

1| 12

b3 | =
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2 3

If the probabilities of A and B to pass an examination are ﬁ ﬁ then the probability that.

only one of them to pass in the examination is

@) 3 . . =
= 2 33 8S° A36° 88 SBE wbES
10 10 o

A 8o B o $BE 888 Sograpden
;‘309556
Options:
E
50

19
5 50

£3

50
3
50
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For any two events A and B. the value of P(4 " B)=

A Both Totoden A HBcsw B % P(4nB)=

Options:

, 4+ (AnB)-P(A)-P(B)

, 1+ (A~ B)+P(A)+P(B)

. 1-(AnB)—P(B)-P(A)

4 1+ (AUB)-P(A) -P(B)
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3p—1 l—pn 1-21p

If the probabilities of 3 mutually exclusive events are — ” =
a - =

respectively.

then the following is true

Ip— e —2 .
3 s60)6 (58 Saeases Somrgden S L L P 3 (fon utet
08B

Options:

—1 | A
)
=
P

1 | =

b2 | —

b3 | —
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If X 1s a Poisson variable, whose parameter 1s 3/2 then the probability P(X > 2) 1s
3/2 SoeSndKe ronmS S8 X o, QogrsSgs P(X>2) Denss

Options:

, 03912

5 0.1912

0.8129
=

0.2249
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The locus of the midpoint of the iron rod of length 2p is shiding on two mutually
perpendicular lines 1s

S0 53553;6 oodoe = 53‘53&35&_ 2p FESFO aHSs §% &:ﬁé&. aﬁzcﬁgo&@oﬁhﬁ
Lot wdo

Options:
2 ) )
X ==
1 P
¥ ‘:!I ¥
¥ =g
2.
2 71 >
X -y =2p
3.
) Py {
X Fy=2p
.
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Correct Marks: 1 WrongMarks: 0
A straight line passing through B (2. 3) make an angle of 135° with the negative direction of
X-axis. If the straight line intersects the line x+ v =7 at A then the distance AB is

2.8 38589 B (2,3) mom o, X-wgo awendis® 135° S0 Idr | x+ =7 &3
360 A S polk, 650

Options:

V2

1.
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" " .:-"
The lmme represented by x~ + 2xvcota— v~ =0 are

pefef Tolo cfmﬁc;o x4+ 2xvecota—yv? =0

Options:

makes angle 60°
| 60° 8%0 AEENS

makes angle 30°
30° §%050 ASNEND
= = T

parallel
3. HarodEo

perpendicular
4 SO0
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The number of possible common tangents to the pair of circles
7 1 §,
X"+y =4, x"+ ,1'2 —6x—8y+16=0 are

5Q§oﬁxmém 4y’ =4, x"+y* —6x—8y+16=08 :‘sﬁ:{l&:ﬁ;c@ Spo o

5
&
Options:

1 0,4
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If the line 5x—2v +% =0 is tangent to the parabola y° = 6x thenk=

5x—2y+k=0 o3 38§38, »’ =6x u3 JoeSvchod JSPFR , k=

Options:
i
., 6
-6
Z. 5
6
5
o
1
2
4,
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7, 2

The pole of the line 21x - 16y - 12=0 with respect to the ellipse 1? + 17 =11is
- 2

2 2
bESH g “IH =1 aps 3658w 21x - 16y - 12=0 o) &) HotH

E
)

':_)

Options:
7.4
, 7.4

(-7.4)
2.

Question Number : 94 Question Id : 3419794727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The condition for the line x cos o + v sindg = [ to be a tangent to the

2 2
- G -
hyperbola — ——-=1
S
@ o
xCcos o +ysino=Rf =3 T, «8 Jccdwoho — — b =1 JpRoTom Qoo
i 3
Options:
) 2 o S RPES 2
, acos’o+bsin‘a=f
2D 2 .2 2
acoso-bsma=p
2,
2 w_ i)
cos"a sin"« ,
e
b~ a’
3
cos’a sin’a B ﬁg
2 2
, 4 b
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. P
lim u —
x—) X

Options:

0

-1

does not exist
55.:5%6 o 5%
. &

Question Number : 96 Question Id : 3419794729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



—— |E*x—k: x=21 . . :
If a function f(x) =+ ) ; is continuous on R then the nonnegative
i -I. .1; 'c:

"

value of k 15

(F2x—k; x>1
R ® |§J3:ro&-o f(x}:,,-: 21‘ : : @@%5&@3. 20BaE k Hends
-
Options:
p 1
2
2.
3 3
4 0
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Correct Marks: 1 WrongMarks: 0
A particle moving along a straight line has the relation s = t* + 2t + 3 connecting the distance
described by the particle at a time t. Then the velocity of the particle at
time t = § seconds 1s

sceo t S0 Somodo s=t2+2t+39 LORSE L850n Jod c-'gucﬁ [ESeo0
JcbS S t=8 nEdHe Sg oo T =50
Options:

2 units / sec

2 oﬁm&ﬁ; [ BES
1::

4 units /sec

4 %) / RES
2

8 units /sec

8 oBrRE) / RES
=3

18 units / sec
18 o%3=0&8) / RES
4



Question Number : 98 Question Id : 3419794731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

2 2
The area enclosed between the curves v~ =4ax. x° =4by

v =4dax, x’ =4by o3 5@1@3 5’.}538&6 STV

Options:
4ab

1. 3

ab
2
4,
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yox g

. : : : v
The solution of the differential equation — =¢’ " is

dx
oSt SerEsmo W oo Sng, s

dx
Options:
X V—
g -¢’'= constant

e™ - e¥=fcroZ0
1. *®

e + &= constant
5 e + eT=Ror0oE0
¥ (]

e’ + e’= constant

s ' +e'= BoroZo
i [}

e’ = constant
e’ = Boroso
4. &
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: g . . dy %
Integrating factor of the differential equation 7 +ytand = cos® 6 at O= 5 1s
E ”
74 i dw 3 -
B =— &8, wdsed LOrE800 +i tanf =cos” 6 SInE) JSTEOS Keodo
4 = de
Options:
1
1.
o2
2,
-
'3
=
.
=,
1
=
s
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Which of the following hepatic portal vemn collects blood from spleen

Bod T8 Sk Kool TR Voriiros Bah Qovies v D62

Options:



Posterior mesenteric vem
% wo|ETrel VY

Anterior mesenteric vein
Y, so(@dres Y

Duodenal vein
wo|Shre Y

Lienogastric vem
Srrastst 28
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The mfective stage of Plasmodimum 1s

STHGC0 TR0 o) %6 DoEdin B¥ 26?7

Options:
Trovhozite
(%% SPowed (BFE £5%5m)

Merozoite
D08 TP ondT

Sporozoite
5" StowS (Sedyy Dessin

Ookinete
4 ﬁﬂ@ﬂ (195508 HDocim® Hedn)
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Which of the following cells of the Sponges play a role in digestion?

Qozte =PEHS” B LBrod Leren 20?
Options:

.Choanocytes
=B3HS® e



Archeocytes
, SO 28

. Collenocytes

=83 S
= ik e

Spongocyvtes

T oR 05
4. o —
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Which of these animals has Calciferous glands
O D8R (o o Ehen 2D?
Options:
Insects
ermeen

Oligochaetes
, OO

Cephalopods
3 DE® DG

Ctenophores

&St
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Bioluminescence is emitted by which of the following

& (8od TEES° £S5 (B35S KOS dpen DD?
Options:

Chaetopterus
2655289



Opalina
P Dy

2

Nvctotherus

Efuaéﬁ

H}'alc-uema
@shu:-,
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The Hybridoma technology refers to

D Bmee 008 dNE?
Options:

Production of monoclonal antibodies

IPIEIT (8 TP aB@

Production of vaccines

; TR a8

Production of antibiotics

| rREd v 68)8

Production of embryonic stem

, DL rOBErY &)
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Osphradium is a
& FL;LJ:):'NJ B0 &8 ;

Options:

Sense organ

i Ryomyoriam



Reproductive organ
[Bers8 e300
2. T

Excretory organ
Qﬁgsﬂaﬂﬁm

Digestive organ
Eororizn
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Which of the following animal contains Crudocytes
& Bod TS AT o £ 2?7
Options:
Scypha

Polygordius
o daetovos)

Pontobdella

FoT B

Physalia
R Movo
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Scorpion belongs to the order of
3w O 55728 DodRa?

Options:

Insecta

g
= m"‘E.;

L

Arachnida

Lle il e

2 [



Crustacia

g é_—"\ -
Meriapoda
Eovlelovhuiing
4,
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The movable bristle of an Insects are originated from

bermed® 5505 505 Sows Bamen Q8 S DE.
Options:
Trichogen cells
, 8588 Serew

Oenocytes

E‘.‘ “

o0 25
2 B
Dermal gland cells

; ©odHR) (1of Sewen

Columnar epidermal cells
[OFPES B5Y Swren
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Addison’s disease 1s caused due to

&3R) T8 LBoPoirds setman &?
Options:

Undersecretion of glhucocorticoids and excess secretion of aldosterone
HpSfeegorond [Racn Shde Do egRES [Ean Eve Jei.

Undersecretion of glucocorticoids and aldosterone
; nssgsrant oy efRe S (@edaver Site Hol.



Excess secretion of glucocorticoids and Undersecretion of aldosterone
, EEsmond (5in ©5rbe Hoah egfRe'S @S it Joi.

Excess secretion of glucocorticoids and aldosterone

; ESoeQsront HOAD SGRE'S Fraan ©p5obe Jes.
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Who confirmed the theory of Biogenesis
DAFEID POz JDW ﬁtg@camfﬁo

Options:
Stanley Miller.

== c\-n.s
P00 o))
23 =

Von Helmont.

. e PGS0

Louws Pasteur.
e R0
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(Chalina belongs to the class of
SO e £9 H S5188 DobSe?

Options:

Calcarea
SeENOaSTe
(=

Demospongia

ASrarosair
)

Hexactinellida

. TR
: BT ™M



Hydrozoa

TG
4.
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The division of an arthropod body into functionally different region is called

YF o €0 THRY G BTEs Freere DPRoUHER) DoLrD?
[ ]
Options:

Metamerism

-

Garpofidisssin

Metamorphosis
> B DB

Holometamerism
Do Terpoldisddem
3

Tagmosis

. P RD
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The cytoplasmic division of a multinucleate protozoan mto multinucleate daughter

mdividuals but without nuclear division 1s called as
SosE Deged edriome, oFEolE (P dnd® o By D SrlEa 20 Hy S
&SR eHoerH?
Options:
Budding

. P58 g

Plasmotomy

SRR 0
AL

Multiple fission

DFEte NG
2. - e



Sporulation

28 LE°E6S
q. @ L
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The colour blindness to blue is called.
QD Borh SBosE R Dootr?
Options:
Tritanopia
[BerS ook

Protanopia

ol at-stovs

Deuteranopia
nﬂ:; EBTeaD

Tetranopia®
BeS*hod
4, S
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The tissue of mammary glands are formed by

2% (ot Emwresn 808° 088 dok?
Options:
Stratified squamous keratinised epithelium

S doe SHETR GOsY

Stratified cuboidal epithelium
W Tl aldsE

Stratified colummnar epithelium
o8 ROTFTY GsY
=" 9

Stratified cuboidal keratmnised epithelinm
W st SEEEN e05Y
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Which of the followimng are also called “work benches™ of the cell

& (Bob ES° BIR B8 Do) ©T D wotrd

Options:
Mitochondria

vl igerol[lovey

Golgi complex

8 Holiso

o = el
Endoplasmic reticulum
woSHY (B el

2. = o
Ribosomes
S& P

4,
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The enzyme makes a way for sperm to reach oocyte through zona pellucida

T 2de oo § de SrgEerR) S508 HES08 Srdo Kiffo TR J0BD 26?
Options:
Hyaluronidase

TrChend TS

Neuraminidase
SRS

Collagenase
FEEEI--En

Phospholipase .
LoD (B crutaw
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The wavelength of visible spectrum is

ZofS IXnth DZHEE TwE) 3 SBY Lo

Options:
380 nm to 750 nm
, 380 nm &k 750 nm

450 nm to 890 nmn
450 nm &o0é 890 nm

650 nm to 940 nm
650 nm ook 940 nm

510 nm to 890 nm

510 nm &0oé 890 nm
4
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The term mutation was comed by

60050 B VWD DL BT THH?

Options:
Charles Robert Darwin
TF0m TR0 BrR

—— EH (W]

Herbert Spencer
2P0l 2S5

Hugo de Vries
Sy GI9R
=

Alfred Russel Wallace
@&E}E é@rﬁ ﬁ;@ﬁ
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The International Union for the Conservation of Nature and natural Resources
(IUCN) was founded m
(%8 $Bchn Ve IV DOYER TBDH ABED &c-oécge‘fécﬁ: H05050% D Joen TFL?

Options:

1962
1956

5 1948

1963
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The shark fish 15 covered with

RS0 58550 JénSof Brenkhel X dotnod?
Options:

Ganoid scales
, Trroni sRendnen

Placoid scales

srTront SPenen

Ctenoid scales
EronG Srenden

Cycloid scales

Pond Srendoen
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The Axolotal larva is found in which of the orders of the class Amphibia

oE i Gofsn egchdtre O BrRE Bodd $Hes® sotnod?

Options:



Icthyvostegalia
A R cie
1. ==&

Anura
oo
5 =

Apoda
, &

Urodela _
G ler
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Which of the following is also called as double headed snake

& B0d &S B VPoirSmorr Bohdue &&n o woir
Options:
Micrurus fulvius
R e B =
. FET)OR JPDALR
Ervx johnii
BEy &R
2. o
Crotalus horridus
, Eerod FoKS

Eunectis murinus
Q-sﬁa;&ﬁ_ﬁ Snd¥men
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The caudal vertebrae fuse to form as synsacrum 1s seen in

DHETBEw Hodiny (SESwnrr E&éééaﬁa DTN Qothe rEnesn?
) i

Options:



Fishes
Daen

Amphibians
&3I00 Joren

Birds

4

3 PR

Reptiles
4 ﬁa%\&m
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The sudoriferous glands is a
SrGEALE (foXhen ©Xre

Options:
Sweat gland
e (Hogoen
" [-¥)

1
Sebaceous gland
RN (Koo

&

Preen gland
'@:ﬁ (Hogoen

Salivary gland
rerae (Hofoen
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Brunner’s glands are present in

Ze00 (Hoder %8 Goéron?
& 18 A o

Options:
Liver
1 S*BdDam



Duodenum

Bo(S Srresn
2

Pancreas

Tleum
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The inner surface of ventricles 1s raised mto muscular ridges 1s called
2883 &9 DD DEDH B0l BLisnoty dxpotrd?
Options:
Chordae tendineae
D 6:&;@@

Coronary sulcus
Eﬂéﬁé@é} S50

Columnae corneae
=) =eONGD
(== [

Purkinje fibres
280 Sodpen
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The cranmum has a wide opening through which spinal cord emerges out 1s known as
EFeosnd® 3% o8 Sodsm 95 SolBsnd dvotrs?

Options:
Foramen magnum

, s Solgde

Exoccipitals

oD Barerd
2 o -



Basiapheuoid

st wl

WS FPerrrdsn

Presphenoid
FURe Y -isrp SEaey
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Which of type the synovial jomt is I'ESI}DIISiblE for the skull to rotate freely.

DB Degorr BEKTRE ST PTOVHS Len DB?

Options:
Condyloid jomt
| Bo¥d Ben

Pivot jo int
=505 Sev

Planar joint
a0 Zen

Hinge joint
4 088 Sen
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The micturition a process of
Avsspyer N (BEch olrr

Options:
Release of urine

Sl DRSS
1 &

Glomerular filtration
-l ﬁ:zr;j:, Seiers

Formation of urine

- sore|8 DoXedse



Reabsorption
DN: T )3easiw
4
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The resting potential of a membrane is about
Zeo &ntidhn ¥ JTH %5‘:‘

Options:
1 =35mV

i + 70 mV

z T35 mV

-70 mV
4



